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: INSTRUCTIONS

IMMEDIATELY AF TER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS. ETC.IF SO, GETITREPLACED BY ACOMPLETE TEST BOOKLET.
2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C ORDAS THE CASEMAY BEINTHE
APPROPRIATE PLACE IN THE ANSWER SHEET. |
3. Youhave to enter your Roll Number on the Test = ; ‘
Booklet in the Box provided alongside. DO NOT \ ; W _
~write anything else on the Test Booklet. . - S
4. This Test Booklet centain 100 items (questions). Each item comprises four responses (answers). Yoq
¢ will select the response which you want to mark on the Answer Sheet. In case you feel that there is more '
“than one correct response, mark the response which you consider the best. In any case, choose ONLY
ONE response for each item.
5. Youhave to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the
Answer sheel.
6. Allitemscarry equal marks.
7. -Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you"
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admit Card.
8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Ingvigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet. .
9. Sheet for rough work is appended in the Test Booklet at the end T

10. Penalty for wrong answers:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBICCTIVETYPE QUESTION PAPERS.

- (i) There are faur alternatives for the answer to every question. For each question for which awrong
answer has been given by the candidate, one-forth (0.25) of the marks assigned to that questxon
will be dedusted as penalty. i

i) lia candidate gives more than one answer, it will be treated as a wrong answer even if cneoﬂhe
given answers happens to be correct and there will be same penalty as above to that question.
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SET-C

41. The duration for election campaign decided 41, 9w H g ST & gAE Th S feg
by Election Commission of India is : frerifa arafer &—
(A) Three months A) A A
(B) One month : (]3)” uf HE
(C) Two weaks ¥AC) & a=is
(D) None of these (D) = A HIE T8l |
42. How many Lok Sabha seats are there in 42, SeEUE § i A el G2 e 7 W
Uttarakhand ? T A (B) 6
(A) 5 (B) 6 (C) 4 (D) 13
(C) 4 (D) 13
43. National Archives is situated in 43, TS JANEEET Fakad T
(A) Dehradun (A) B
(B) New Delhi B) T R
(C) Kanpur (C) HHIX
7 (D) None of these (D) =91 A g &
44. The battle of Buxar took place in : 44, T AT TIE g A2 \:@9‘{
(A) 1757 (B) 1947 ™ (A) 1757 (B) 1947
(C) 1857 (D) None of these (C) 1857 (D), Z°%
Ny
45. Who was the First Vice-President of India ? 45, W & U IUTLAN B F
(A) Dr. Rajendra Prasad (A) . T = T8E
(B) Dr. Sarvapalli Radhakrishanan B) . T T
(C) Dr. Zakir Hussain (C) St TR g8
(D) None of these (D) 39 | &g &
46. ‘Indian National Congress’ was established in: 46. “9TEE TG E@'ﬂ” & T B B8 7
(A) 1885 (B) 1869 AA) 1885 5 (B) 1869 &
. (C) 1857 (D) 1881 (C) 1857 # D) 18<-‘31 7
47. The largest rail-route of the world is : 47 AR F HIY 40 T §
(A) Trans Asian Railway (A) o i e ¥
(B) Trans Indian Railway (B) 24 vz W
* (C) Trans Siberian Railway = \_F) 7 msafae
(D) None of these (D) 579 & H1S T
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‘Which bank has the authority to issue
~currency notes in India :

(A) Commercial Bank
(B) Reserve Bank of India

hat: was the main catalyst in “Green

: (A) Irrigation facilities
®) Better fertlhzers

term NGO is :
Nun Government Organisation
on Guarantee Organisation
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55, Whichisthe largest river among the fol]owmg
(A) Ganga (B) Yamuna
(C) Ram Ganga (D) Gomti

56. The Service Tax in India is :
(A) Direct Tax (B) Indirect Tax
(C) Increasing Tax (D) Decreasing Tax

37. A child’s blood group is ‘O°. The parents
blood groups can not be :
(A) ABand O (B) Band O
(C) Aand B (D) Aand A

58. SO, pollution affects which part of the
plant :
(A) Chloroplast
(C) Lysosome

(B) Mitochondria
(D) Roots

59. The result of ozone holeis :
(A) Acid rain
(B) UV radiations
(C) Global warming
(D) Green House Effects

60. Chipko movement was launched for the
protection of :

(A) Grasslands
(C) leestock

(B) Forests
(D) Wetlands

61. _'ZA major component of gobar gas is :
 (A) Ethane ~ (B) Methane
i ;,(C) Butane / (D) Ammonia

ng o of mﬂk takes place by
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j 5 (B) J aunpur
(D) Ahmedabad

~ (B) Sikandara
(D) Lahore

(B) Fatehpur Sikri
(D) Delhi
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73.

7.

7.

76.

“World Environment Day' is celebrated on |

(A) 31 March
() 8 June

(B) 3 September

(D) S July

Lunar Eclipse is caused when ¢
(&) Moon eomes in between sun and earth
(‘B‘) Earth comes in bclwaen sun and moon

(€) Sun comes between earth and moon
(D) None of these

The capital of the Tamilnaduy
(A) Chennai (B) Hyderabad
(C) Bangluru (D) Cochin

The word *Hook’ is related to which game :
{A) Boxing (B) Cricket
(C) A & B both (D) Badminton

Strongest musele of the body is :
(A) Jaw

(B) Thigh

(C) Shank

(D) Forearms

2nd October is associated with :
(A) Pt. Jawahar Lal Nehru

(B) Lala Lajpat Rai

(C) Mahatma Gandhi

(D) None of these

“Santosh Trophy” is related to :

(A) Hockey (B) Football
| ,(C) Cricket (D) Tennis
Who was the fi rst astronomer to tell the carth
_rotates on its axis :
) Varahamihic  (B) A-r:yabh'-atm
i ;(C) Bmhma

G ;_A'j"“ita_ (D) Bhaskar I
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8 Where is Bharat Electronics Limited situated :

1)

80,

(A) Kotdwar
(B) Haridwar
(C) Nainital

. (D) None of these

Which is the second state language of

Uttarakhand :

(A) Hindi

(B) Sanskrit

(C) Garhwali

(D) None of these

@w«'mmpf‘f’ m

Which one of the following is not included
in ‘Char Dham’ in Uttarakhand :

(A) Harki Pauri

(B) Badrinath

Tt T(C) Kedarnath

81.

(D) Yamunotri

Which of these is not a social network :
(A) ORKUT

(B) PARAM

(C) FaceBook

(D) Twitter

Who was the-PQIitical Guru of Mahatma
Gandhi :

(A) Lala Lajpat Rai

L _ (B) Bal Gangadhar Tildls
() Gopal Krishan Gokhle
-, (D).None of these \

anauemem has been estabhs{xed

:.Awhxch city of Uttarakhand Iﬁdxan Institute

i
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“(A) AT AR T
(B) et T e

83. sﬂm%ﬁmmnmﬂwm
"’aﬁma&nﬁ%

Scanned by CamScanner



84.

85.

86.

87.

88.

89.

90.

. (C) Didihaat

Lac is a/anp

(A) Plant proguyct (B) Animal product

(C) Viral product (D) Artificial product

Who has earned national fame in the game
of Badminton

(A) Sania Mirza (B) Saina Nehwa]
(C) Neha Bhatnagar (D) P.T. Usha

How many Tehsil are there in Uttarakhand
state :

(A) 13
(C) 78

(B) 26 .
(D) None of these

The state animal of Uttarakhand -
(A) Dear

(C) Elephant

(B) Kasturi Mrig
(D) Brahm Kamal
Gaura Devi is related fo which movement :
(A) Chipko movement

(B) Maiti

(C) Pollution movement

(D) None of these

A Kisan Credit Card (KCC) scheme was
introduced in the year :

(A) 1979 (B) 1978
(C) 2001 (D) 2005

Which place(s) is/are located in Pithoragarh :
(A) Munsyari (B) Dharchula
(D) All the above

In Ihe followmg which is/are situated at

(B) Yamunotri
(D) All the above
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"o P s
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(D) 9 ¥ =g 75
89. ﬁFﬂW%%Em(KCC)a?rZﬂmmﬁma&
b T
(A) 1979 (B) 1978
(C) 2001

#2580 Ly
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List 11
(1) Udham Singh
- Nagar

(2) Haridwar
(3) Champawat
(4) Dehradun

(c) Lohagliat’
(d) Chakrata

Code——

(A) Dr Az1.z Qu?‘peshl
~(B) Surjeet Singh Barnala
(C) Margratt Alva

, (D) None of these

| W.hiéh.o.n\e among the following is not
u ,ed m Panch Prayag :

(o) SUOETS Wi (1) Fom e

(b) e AT - 5 (2) BER

S (R

(d) THIAT
He—

(A)
(B)
(©)
~D)
Sxamprein
93 SETS & Yo T B 2
“(a) . s Hl ol
AB) g e an -
(C) ATRE Sren
(D) 374 | H1E &

94, ﬁqﬁ%ﬂ?wmwmﬁm
o TEE:
(A)é?mm

ST U T
et 9 R 50 M S R s ]
W = NN W o
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96, Plutoisa:
(A) Planet

(B) Dwarf Planet
(C) Asteroid

(D) None of these

97. The state having Asia’s largest Solar Power
Park is ;

(A) Rajasthan

(B) Haryana
(C) Gujarat (D) Punjab
98. “Nanda Rajjat’ is celebrated after a interval
of:
(A) 4 years

(B) 6 years

(C) 12 years (D) None of these

99. The real name of Tinchari Mai was :
(A) Thaguli Devi ' LR
(B) Sita Devi
(C) Gita Devi
(D) None of these

100. Match different Garh to related places :

List I List 11
(@) Nala Garh (1) Dehradun
(b) Mungra Garh  (2) Rawai
(c) Uppu Garh (3) Udaipur

(d) Sangela Garh  (4) Nailchami

Code—
a b c d
Do 154 2 3 4
B 2 L A
e e 14
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O T (D) o
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AN Lkl P
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T 1 T 1
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(b) FTE (2) Tard
(c) TogTg (3) TEAR
(d) T (4) St
b b Bl
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